TG g FfEfFaifHe swsT &

[eETICA = IR

A I s I b g s et

..........................

AE R 01.02.49¢.dY¢.09.058.28.9¢ 9
.......................... ©If4e3 ob TACJ/ET 038
-------------------------- TAFE Oifees Y SCFEF 2038

- d:00 WHH

s R e Fanfn Tadae o ek Gt MRNTEre FeeeR S99 G WA R (A (0d-
3¢) W 3 WA ST T O WM T AR | AN TSI SR S o
Ffefe ST =S SR 20O A |

AN e

TXREET BT
FIAEH f[us
ATF JIGT ARBETS




@ BT TR AT TR oo B oFre APIEEE 5w ¢ Renkefyeby «a s & Bt s RSy

AP AE @7 R

el
& O BT @ - d3¢0b, S8, d¢uy IR ¥, 0 GHE 8 09 WA, 08 (s
fqem) |

ELEE TR R Ciad s{fare GFE TG oy
01 GI Pipe DN 32 SCH40 Mtr 710
0D:42.2 mm, Thickness:3.56 mm

02 MS Square Bar, 20 mm Kg 1120
Grade:Marine
| (lenght: 355 Mtr)
03 | MS Square Bar, 25 mm Kg 123
Grade:Marine
' (Lenght:25 Mtr)

04 Solid Round Bar, Dia:25 mm Kg 610
Material: MS
(L.enght:160 Mtr)

05 Solid Round Bar, Dia:30 mm Kg 608

Material: Deep Galvanized Steel
| (Lenght: 110 Mtr)

06 Solid Round Bar Kg 2.67
Dia:12 mm

(Lenght: 3 Mtr)

Material: Deep Galvanized Steel

07 SS Bolt,M16x50, DIN 933, Pcs 1250
Dia:30 mm
e Material Grade: AISI316L
08 SS Washer ,d16, DIN 126, Pcs 2500
Material Grade: AISI316L
09 SS Self Locking Nut ,M16, Pcs 1250
DIN 985,
il Material Grade: AISI316L
10 MS Socket (57x 5.6mm) Pcs 12
- Grade: Marine
11 SS Countersun Head Screw Pcs 12

M10x70-4.8mm
Materrial Grade: AISI316L

12 SS Hexagon Nut M10 Pcs 12
L Materrial Grade: AISI316L
13 GI Elbow(42.4x4.0 mm, Pcs 24
] 90° Degree
14 GI Elbow(42.4x4.0 mm, Pcs 60
| 45° Degree)

/zi@l

TS fargs
I (GG
ST )
imncw-rﬁrz%%mm‘m“: fors
5 )




15 | Chain Block ( Single Chain) No
Capacity-2 ton
Chain 3Mtr
Brand: To be Mention.
Model: To Bbe Mention.
Country of Origin:
| JAPAN/CHINA
©I15 8 BITFPTR FECHID O1T
. I L T
aifafem<s ==t &= e =TT A=A
SN AT B FTNS S REEEIESOEIE R I
f=sy o316 faas« we-
afgamr (e |J2-
=g« we-

Cﬂg-r’?;?:iﬁ

st faas

Tfraw (asfim)

SRS @S et eney fre
<RSI I fEZR, Armrestm




Ll

Specification

L

A=

Beder Specification

01

GI Pipe DN 32 SCH40
0D:42.2 mm,

Thickness:3.56 mm

Mtr

710

02

MS Square Bar, 20 mm
Grade:Marine

(Lenght: 355 Mtr)

1120

03

04

MS Square Bar, 25 mm
Grade:Marine

(Lenght:25 Mtr)

123

Solid Round Bar, Dia:25 mm
Material: MS
(Lenght: 160 Mtr)

Kg

610

05

Solid Round Bar, Dia:30 mm
Material: Dip Galvanized
Steel

(Lenght: 110 Mtr)

608

06

Solid Round Bar

Dia:12 mm

(Lenght: 3 Mtr)

Material: Dip Galvanized
Steel

2.67

07

SS Bolt,M16x50, DIN 933,
Dia:30 mm
Material Grade: AISI316L

Pcs

1250

08

SS Washer ,d16, DIN 126,
Material Grade: AISI316L

Pcs

2500

feferaw (asf@m)
EPENE «s IfefFmiEe ente T fn
ATETITA1 T <Y, eI |




09

SS Self Locking Nut ,M16,
DIN 985,
Material Grade: AISI316L

Bes

1250

10

MS Socket (57x 5.6mm)

Grade: Marine

Pcs

12

11

SS Countersun Head Screw
M10x70-4.8mm
Materrial Grade: AISI316L

Pcs

12

12

SS Hexagon Nut M10
Materrial Grade: AISI3 161

Pcs

12

13

GI Elbow(42.4x4.0 mm,
90° Degree

Pcs

24

14

GI Elbow (42.4x4.0 mm,
45° Degree)

Pcs

60

15

Chain Block ( Single Chain)
Capacity-2 ton

Chain 3Mtr

Brand: To be Mention.
Model: To Bbe Mention.
Country Of Origin:
JAPAN/CHINA

=

sulSlT fFas

feferaw (g

THIATE S Ifafmfe egrecy
<reEie ¢t A, m?‘




S waoiE 3 HAaIE GIG ARG *1S BISl Sy (FIF *TS SO 74 |

R A SR JTIRIAE FERE &K (ONAF FBW] FACHA AL (WS P G (PIT T 2d395000004
WG “rrIvE” BT P e 4/ FreeR 5ird e 2e 23 @R @ wRenas A P/ SresE b few
“{rad S YT A0 A | [ (renes Pie AmE/ARe T4 TR | R oy wgEd e we Gey ¢ ont w6 w4

E1C

O | SRARPAN T (T AT T QAT @) ARERenT Rerweage Wy IGe AfnEe, veae g
fufaifa eard o, IR (TRIEAT, T, TRIREE TGRS A0S A |

8 | T ABIRAG R M 00.02.49¢1.56€.09.558.38.9¢9 SIfFY ob W[ 038 G (7 (¥ B db W
3038 T3 d3:v¢ fig o |

¢ W Ol T SRl 920 THIAMCH AU o3 A I0H G TS TA | Fo Sl FIATF 8o e w1e weiR
IR ARCS Z(F | FECA* QWTCE OIfFd 220 ¢ (A7) s Seay T F<a1R F909 20A |

Y | @ 3ffe TS TE 26T AT WEANE FAEEE I T AfS FerE W S [y 97§\ 0.¢ % TE @ e
R Feaaz Sfes [Eraa S Teme TS Z#/ 13 e 2o dfS AR WA O S [{reirad W Sk Y% =E
e FaqazdRe At e 69 Far =9 |

A ORRARIE TS TIS WEAN FRAE Y T PRIARFS WA TG S T FA03 WO 475 (3 g
() FRRARFAE 6 20O W F4l T(A |

b wErE SRR e AmIR otaw veed v e W @ (@ MRMNIES Atad 35 S i 2o By
AR W16 TS AT | 0 1€ wavia S=e@my =7 |

51 feefaT o sgorwa @@ s wiitar IfereR @ @9 R 57 Jo7 Siffei2 a2 ST S5 F99 FHo!
P |

So | TN QRO P Sifeer FaARIEe wua [{fY (rende 53y WeearE JW e F9e T oifeeE wel
N AT TS ¢ % TE TINTS WA F41 A | TE GG G9R Oeees Feaaae g eus BIefze fr
FgeirE W A qR T AEge @ @ IR T W W T Tqar Fare S, afewr wrEr T
e @ITA! (ITSTCAF AR A I Gy SIS FAT A0S |

1 INIHT @ SR T B (NSRRI IS (I AP SO WA & (I ey wraed 1
St fafie 2 g O “AfarafFre TeEAET (@ (FIF GG I TS WS FRARPAT GINTS S 479 4T 2 |

N EAEE IR T RS HRIRR A=A 7 |

sifeita Terge!
TS =S Tom AW (@ WS {eAd orer o ord R s ey Sen sivwa werpiE @3 W o
TP A R O T 20T IRACH (VAR FES WAIAS AP % (R FRRALIIAG WAS A ofra
Tqger frwifes o8 sa1 7@, oros e oo Tow FAe orwe fike wwmamE T @I e [5EE
(ST e w91 I gk Siree = e ad 2 Y580 AT AP Wiz wEid vaw Praer ey «a B
b IR e (A fAre 29 «ez @7 Frare Tote 9t et snRaIpIee saifte T Wik IO o (e

fare 29 |

YO | FAREEPS TENIEE SN AIHIE GNATNT Y MATH FRIAR SEPE T (T AT RS ST Kol
Tred 944% oo (fom) 3 e @ BT (o1 wa1a o1 ToTa Ny selfa e o516 @ B 367 Frors e offfry

FATRA |

fomggy T SrRe @ @ wwe R 3o e e A seearefin = S afen wre AnE | w5
Tfoq el YR AfTERend PSR | W WeBel wwer SeEr AR N 9 A AT
Tpfon T sr*G3 Aifes 01 ooy =01 |

TS i?mq:;

fSfenay (gefir
SWITE 5 3 )

IO T arfsy, vm |

s




TS g FfeRTRe s Fe

qreETCr = T2l

:Il lll ”q :‘lﬂ.inﬁlﬂ_“l@

A FRoL. O VAL .OVLE.OA.OB8.8.A@¢ O

wao@ cEE Sifag S B[ 038

S92 20 HCHETT 08

=TT > 0o HiG=H]

@Fg WL rETTCETE (aaae “ifarsrier Br=s1
SLF (TG W) AT
FTf=raer (cerr=eTe)
FAAAIEHEE 99 e fS=rere
TeTTZ 9w CTBTT TSI
ety [Fae
fEferaw (asfim)
ESIUTS us fegRmf ourds e

QlesTTCa T fEAT, [arEEE |




wRelawTeTR ey o R
(GUIDELINES FOR TENDERER)

fArare Roatets wao@ coaa S 3G 3w fZrsea et 496 8

S AeForye=es w16 (NOTE OF CAUTION) ¢

(F) B AEvTan fAEnefe aff @2 2T widcTe e gfem wwdw g RfFcaed a3k
arereTge e IfEeS =0 o3 o1 s = = =7

2 T, Ao e =¥ (CLARIFICATIONS, INSTRUCTIONS AND INFORMATION)|
O3 wATEd It Tfe® Sfefae @i Srdra w2 fFe wiErnfom @ = Recas a8 Sgeay Ar<eee
ol fAfResica Aao@ IR ord2 ol s 203 3@ cFsl @iF [T A SIfSRE S=y S=ieae e
Sged aCd Brd ol Foe [Feace FReer s @rst G Iy, Red=at a Searense et

FHIERE PCA|
©| v wiewer Af#w€s (MODIFICATION OF TENDER DOCUMENT) | =i “ifsi=dw, Fiee=iiss s
AL WA FETE AR S ASTAR THASIH A S FCANLT HFICH SF BA A, A ARG S

fZita 79 201 OB HROE MR IS I ES TS I QIR FHACET M RIS 20| @ ©f 71 27
St ST Ao e ol =0T

81 fRftr fA==r<# (BIDDING INSTRUCTION)|

8.> == AN &S (One Envelop System)

= | <ifirae Ay wae@ Fe, Eo@ AT Sifa 8 T 9y Trad A9 foeEa Uy wav@ wieid
W @ #4ef 3T TS %03, TS TS RS A1 FHoE F1 Yoo (TS 2SS 1 |

= afa ArEcem GG srda fRormgEa e oife 9 7 2 ora o eSS qt s waea Rewa
fatafos zta, Tite et wif e =)

L

st [Fae
rEfErasT (9
WEUTS s el e e

ceniew = oAt QIfEAT, AT |



